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101. Newton's laws of motion are valid in 

~ inertial frames (B) non-inertial frames 

(D) accelerating frames (C) rotating frames 

(A) ~mQJLD6 sL...Lri.Ja;m 

(C) s;~~ib sL...Lri.Ja;Qi-

(B) ~mQJLDlD ~rD!D BLLri.Ja;m 

(D) QP@.$a;uuL...L8LLri.lc$Qr 

102. The ratio of longest to the shortest wavelengths of the visible light never exceeds the 
number 

(A) 5 

(C) 4 

(B) 3 

'fflf' 2 

QSl~a;rr4iliBT ~601uSl6iJT uSla; ~~a;LDrrar ~Q)Q) .£m~!D®lb uSla; ®6n!D6l.HTQT ~roQ) .£m~!D®lb ~mm jD8i'616iiT 

LDiJuy "'1"jf,f1 '1"4iliBfroQRIT uSll§c!Frr~? 

(A) 5 (B) 3 

(C) 4 (D) 2 

103. Find out the correct statement(s). 

0 

I. Radius of Zr-Hf, Nb-Ta are nearly the same 

II. Yttrium occurs always with heavy lanthanides 

III. Due to lanthanide contraction, basicity of La(OH)3 is less than that of Lu(OH)3 

IV. The densities of the IIJrd transition elements are less than that of IInd row transition 
elements 

(A) II and III 

(C) IV only 

c!Frfl1Urrm G11rr!iJGwrrLl'r( a;mm) a;rr4iliBra;. 

~ IandII 

(D) III and IV 

I. Zr-Hf LDrOglllb Nb-Ta @m~a;6016iJT ~l]LD~u4 &lL...L~lbLL ~C:I] 1.DrriJrfl1UrruSl@.$®lb 

II. @L...~rflUJlb "'1"uCurr~tb a;mLDrrm CQ>)t,lbmm@a;Cmrr\:LClLI @m~.ffi~ &lmL.$®tb 

III. C:Q>~mm@ ®Wl.$a;~~rrru La(OH)3 6iJT a;rrrJ~~6iJTfif>LD Lu(OH)3 a;rr17~6iJTmLDm1U 661L ®6n!DQJIT& 

@®B;®ib 

IV. 

(A) 

(C) 

(!J>6iiT!Drrlb 6l.Jrflm11 @roL~a>Q)p; 1b~LDri.Ja;6016iJT ~Lirp;iJ @IJ'~Lrrlb 

®Q)!D~ 

II LD !D lJ)f lb II I (B) I LD !D lJ)f iD II 

(D) III LDtD)J)llb IV 
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104. Balance the following equation and find out the value of a, b,X and Y. 

6Fe2
• + Cr20~- + aX-. 2Cr3

• + 6Fe3
• + b Y (acid medium) 

(B) a= 16, b = 8, X =OH-, Y = H 20 

~ a =14, b=7, X=H•, Y =H20 

(D) a = 10, b = 5, X = 0 2
-, Y = H20 2 

(D) a = 10, b = 5, X = 0 2
-, Y = H 20 2 

105. The ratio of the volume of C02 released to the volume of 0 2 taken ~n respiration is called as 

(A) photorespiration ~ respiratory quotient 

(C) phosphorylation (D) oxidation 

8'Q.trr6l~~"5lm C02 QQJaflCUJJi>JDuu@tb ~'1T6l51Jb®tb, ~BiW'IPiar G;r@~~~Qa;rrm'1'TLiu@tb 

~'1T'6l!D®LDITQT 6l51£11fjtb @6u'6lp;LDIT8i ~Q)~B;a;uu@tb 

(A) ijl'1f!6:s;QJrra:tb (B) s;QJrr6 FT'Ql 

(C) urrauurrrflCQ>Q!jiar 
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106. Which of the following biosphere reserve is considered as 'Biologists paradise'? 

(A) Nilgiris 

~ Gulf of mannar 

(A) ,£Q)£ifl 

(C) LDQrQTITrT QlQ>QT@jLIT 

(B) Sundarbans 

(D) Nanda Devi 

(B) s;p-,15rrumEfu 

(D) fbJblfirT C~6l51 

107. Match List I with List II and select the correct options given below. 

List I List II 

(a) Bacterial disease 1. Syphilis 

(b) Viral disease 2. Kala azar 

(c) Parasitic disease 3. Rabies 

(d) Sexually transmitted disease 4. Diphtheria 

(a) (b) (c) (d) 

(A) 3· 2 1 4 

~ 4 3 2 1 

(C) 2 1 4 3 

(D) 4 2 3 1 

ULlq-IJ.JQll LIL!+IJ.JQl II 

(a) LI rr .$ 12.ifl IJ.J Q) 0 ,!b ITuJ 1. 81 :. t.Sl QSl Elio 

(b) Q>QJgEfu C,!f>rrlLi 2. BirTQ)IT d!B'rTrT 

(c) ~L.@~~ Cp;rrlLi 3. Cgi51Efu 

(d) urrQ>6lSJgim C,!f>rrlLi 4. ~·.u~rflUJrr 

(a) (b) (c) (d) 

(A) 3 2 1 4 

(B) 4 3 2 1 

(C) 2 1 4 3 

(D) 4 2 3 1 
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108. Find the organisation from the hints provided below. 

I. The membership upgraded from 7 to 8 since 2007 

II. Its 18th summit was held in Kathmandu, Nepal in November, 2014 

III. Its 19th summit is to be held in Islamabad, Pakistan in 2016 

(A) APEC 

'Vilf' SAARC 

(B) ASEAN 

(D) D-8 

I. 2007 @ru.@f>6sr Ln;J!Ut.SlEiBTrr ~aimaflB;Q)a; 7g51<!9.!b~ 8 ~£1U~ 

II. @1D6sr 186\J~ LfflLDrrp;rr@ s;rrl...LDaiar@, CJburrm~~ru. p>QJtburr 2014 piQ'>LGuJ!>!D~ 

III. @1D6sr 19QJ~ LffllDITJ!ifT@ urr5lGii1>1Drr6sr .@Gii\>Q>rrLDrrurr~ru. 2016 ,ffiQ>LGU!DQ.j'1rm~ 

(A) APEC 

(C) SAARC 

(B) ASEAN 

(D) D-8 

109. 'Born again on the mountain' was written by the mountaineer 

(A) Bachendri Pal 

~ Arunima Sinha 

(C) Santhosh Y adav 

(D) Arjun Vajpai 

(A) u6G6Ji;~nl urrru 

(B) ~(!!),!bl lD IT &)Qrjilll)IT 

(C) 6JbCIDrr~ UJrr/DQ.i 

(D) ~n-~-..6Jr QJrrSiurrU:.. 
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110. Which project was launched recently to develop a road map for research to solve major 

engineering and technology challenges with relevance to India? 

(A) Digital India 

~ Imprint India 

(C) Make in India 

(D) Sagar mala project 

Gurri@uSlUJQ> lDJDl!)LO G15rrW!Q> @L..u cJQJrrQ)c$mm irruuf>£bc$rrm 41]'rru'.J661 C1DJi>Gc$rrmQJ15!i>a;rrm 6TJbf> 

~L..LL.0 lftDu;,/jQ> .@.ffi~UJrr6'61Q> Gf>rrLri.Ja;uuL..@mmiJ? 

(A) ~~L..LQ> .@~UJrr 

(B) .@l.O~iflQa,.L_ .@.ffi~UJIT 

(C) ClD5.@'1r .@.ffi~UJrr 

(D) lfITc$rT lDITQ>rr ~LLLO 

111. The 'Start up India and Stand up India' is related to 

(A) providing electricity 

Vlr promoting bank financing for entrepreneurs 

(C) promoting agriculture in rural India 

(D) promoting foreign investment 

'jJQJri.J@j .@Jb~lUIT', '6TQ9Pl~G .@Ji;~lUrr' 6TQrUjl 6Tlb®iLQr QlblTLITL.jQ>LlUiJ? 

(A) Lhl'1rlfrr11L.0 QJ~ri.J@)15Q> 

(B) QlbrrW!G>@"''81CaJrrri"5® QJri.J5!55L'1r ~afluu"'p; mir5®6'61~ 

(C) .@.ffi~UJ 5ll]'mori.Ja;aflQ> 615lQJlfrrlU 1t..!i>u~~mlU QuG5®p;Q> 

(D) QQJQfl~rrL..@ QPlbmL..mL ~~a;uu@~illbQ> 
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112. Which of the following committee is related to the ban of IPL's 'Chennai Super Kings'? 

(A) Ram Pradhan committee 

"(ill/f Lodha committee 

(C) Howell committee 

(D) Mahaseth committee 

£~a;filiBTL ~;,,, ®@ IPl...,.--Qr ·Qcffitm'8T ~uurr 5lri.Jw'-a;rrQT ,,ml-5® Q,,rrLrr4mLUJ~? 

(A) 11rrlb u11,,rrEir ®@ 

(B) C:Q)rr,,rr ®@ 

(C) C:~rrQQJru ®@ 

(D) LO&rrC~ ®@ 

113. NJAC stands for 

~ National Judicial Appointments Commission 

(B) National Jute Assessment Committee 

(C) National Juvenile Assessment Court 

(D) National Judicial Administration Committee 

NJAC ~6'ru~ 

(A) c,,filUJ .£~u1Ja;m ~UJLOQT 4mQBTUJLD 

(B) C,,61UJ 6Q8Tru lDIJuL.SL.@5 ®@ 

(C) a,,61UJ 611Drrrr LO~uoL.@ .£~w6'r!Dlh 

(D) C~UJ a:L.L~rrQJrra; ®@ 
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114. "Musiri Traditional Protection Scheme" was introduced in which state? 

(A) Tamil Nadu (B) Karnataka 

l(i1f Kerala (D) Gujarat 

(B) 8.irTJl)rTLc$rT 

115. Who is the author of the book "Sunny Days"? 

'fltf!' Sunil Gavaskar (B) Nelson Mandela 

(C) Benazir Bhutto (D) Tasleema Nasreen 

116. The Dibang wild life sanctuary is located in which Indian State? 

0 

(A) Jammu and Kashmir 

"1Jf" ArunachalPradesh 

33 

(B) Sikkim 

(D) Odisha 

(D) ~tq.S:IT 

AJGST/16 
[Turn over 

I 



I 

117. The mount in Himachal's spiti valley which was climbed and named by Mr. Arjun Vajpai 

and Mr. Bhupesh Kumar in 2015 is 

""'11/f Mount. Kalam 

(C) Mount. Spiti 

(B) Mount. Pal 

(D) Mount. Shigri 

~®· ~r'r~"'Oai QHT~urni.J w!i>giilb i$J®. ~Gu~ @;LDrrir 4£GUJrrira;mrrro 2015-ro 'J!DULIL@. GuUJiflu.JuLL-. 

~wrr6QS'lai Q\>i.Sl~ LJ~W~rr.$.$lQ) ~68>LDJb§jm"1T LDQ)Q) 6r§j? 

(A) a;Q)rrlb (B) urrro 

(C) 6iui.Sl~ 

118. Which is the proposed capital of Andhra Pradesh to come up in the banks of River Krishna? 

(A) Krishna Nagar v'1f Amaravati 

(C) New-Hyderabad 

(A) £@~Q5Trr J!>BirT 

(C) ~i$}UJ-tB)'blJ"ITLIIT~ 

(D) NTR-city 

(B) ~LDl}"fTQJi$} 

(D) NTR-p;a;11Lh 

119. The major part of the Great Barrier reef is located in the latitudes of 

"1lf" 10°-20° south 

(C) 40°-50° south 

(A) 10°-20° G)'b!i:>® 

(C) 40°-50° G)'b!iJ® 

AJGST/16 34 

(B) 10°-20° north 

(D) 40°-50° north 

(B) 10°-20° QJL.$@; 

(D) 40°-50° QJL.$@; 
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120. Ritchi archipelago is a part of 

(A) Lakshadweep 

(B) Indonesia 

Viii' Andaman and Nicobar 

(D) Philippines 

(A) ~Q)L5~f,~ 

(B) ~ Ji>~rrC'8f fil UJ IT 

121. Pick out the incorrect statement from the following. 

(A) Bhima is a tributary of river krishna 

~ River Godavari originates in Mahabaleswar hill 

(C) River Narmada originates in Amarkantak hill 

(D) Girna is a tributary of river Tap ti 

0 35 
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122. Consider the statements : 

I. Vajpayee paid a visit to China as a Foreign Minister in February 1979. 

II. This was the first visit by an Indian Foreign Minister Vajpayee after the 1962 war. 

Ill. During Vajpayee's visit to China, the Chinese attacked neighbouring Vietnam. 

IV. Vajpayee cut short his visit and returned home protesting against the China attack 

on a fellow non-aligned country. 

Which of the statements is/are correct? 

(A) only I and II are correct 

(B) only I, II and III are correct 

Vlf I, II, Ill and IV all are correct 

(D) only I and IV are correct 

L 1979 t5lurr6tJrfluSlru QQJQfllJ..l!DaJ~ ~Q)ID &iQ>LD6a:rrrrs; @®.!b~Gurr@~ QJrr~urr!JJ IQTrraJBi® 

E>lSJ~U.Jtb Qa:li.J~rrir. 

II. 1962tb ·~6lilr@ Curr<!!i.$®u LSl!D® Sarrrai.$® Qa:m!D QP~ru G61Jmlll..l!DQJ;, ~Q)!D &iQ>LD6a:ir 

G\JIT~urrli.J ~QJrrir. 

III. QJIT~urrli.J Harrrai.$® Ga:m!fil®Ji;~ Gurr@~ ~(!!j.ilGS'l®Ji;~ E>lSJUJLJr>ITLD iD~ IQTrr ~rr8>®~ru 

G~rr@~~ · 

IV. ~~Ca:rrrr @U.JB;s; JbrTLQ')L IQTrr ~rr"1lU~JD® "1'~iru~~ Q~rfl6lSlB;®tb QJQ')s;uSlru uUJQl51";,Q'),, 

~g)l;;~E>lSIL_@ Qlrrmurrli.J ,,rrUJs;tb ~Q!itbL5lmrrir. 

@6tJ!iJl!)Jro "1'Ji;~ sn!iJSPJ ( ~) sn!iJgi1s;ro SLliliGTQ>LDlUITQTQ)QJ? 

(A) I lDWl!)JtD II lDL@tD SL6lilfQ>lD 

(B) I, II LD!Dl!)Jtb III LDL@tb (LliliGfGl>LD 

(C) I, II, 111 lD!iJl!)Jtb IV &jQ>Eill~~tb SLliliGT"Q>lD 

(D) I LDJDg)ltD IV LDL@tb :L6lilrroLt> 
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123. 

0 

Match the following from List I with List II and choose the correct option. 

List I List II 

(a) Kalidasa 1. Laghubaskarya 

(b) Aryabhatta 2. Pancha Siddhantika 

(c) Bhaskar a 3. Aryabhatiyam 

(d) Varahamihira 4 . Ritusamhara 
..... 

(a) (b) (c) (d) 

(A) 3 2 1 4 

(B) 2 3 1 4 

\JI/If 4 3 1 2 

(D) 3 1 2 4 

QJrrl6'>8' 1--ib LQr'1T6fli'> II 4tb QJfi16fl8'll..jLm Gurr®Pi~ a:rrllUITQT ~Q)LQ}llJ a,,,rr,lf;G~@ti;a;~tb. 

QJiflma: I 

(a) a; rrGilfl ~ITQ\) rT 

(b) 4fil1UULLr'r 

(c) UITWc$1}'1T 

(d) QJ IJIT~ L.61 t1 l}'rT 

(a) (b) 

(A) 3 2 

(B) 2 3 

(C) 4 3 

(D) 3 1 

I. 

2. 

3. 

4. 

(c) (d) 

1 4 

1 4 

1 2 

2 4 

QJ rf'l (01)8' II 

Ql@jUITWSil]'ITIUIT 

u@ja: il~~rr,lf;~a; 

<:!2j,if!UJU L~IU Lb 

rrl~a:tb~rr11tb 
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124. Article 280 of Indian constitution deals with 

(A) NITI AA YOG 

~ Finance commission 

(C) UPSC 

(D) State public service commission 

@.ffif)UJ -=.9!1JfilUJQ)QlLDU4 B'LL 6l51!) 280 6°lilQJrr~UU§I 

(A) .ffil~ ~GUJrr.$ 

(B) .ffil~ 4Q)~UJtb 

. 
(C) 

(D) LDrr,ffi)Q) u~UJrrmrr ap;rrQ.irrQ)~UJL.i::> 

125. Which one of the following pair is not correctly matched about the sources of Indian 

constitution? 

(A) Independent judiciary - USA 

(B) Single citizenship - UK 

(C) Concurrent list - Australia 

~ Suspension of fundamental rights - Russia 

@)iif)UJ -=:.9117#1UJQ)Q)L.OUL51m ~Q)rr~rrl]'rrr6.Js;'1Trrs; s;®~Liu@ib. .i~8iGi8TL @mQIJTa;rolru eiflUJrrs;u 

Gurr@HiLiuLrr~ '1"§1? 

(A) 8'>'5Ji">~IJLDITQT f>!Jii§la>!D - -:.91QLDrrl.$s;rr 

(B) S>W'8>!D ~tq.ll..jiflmLD - LSltflL...Lgy 

(C) Gurr§!LiuL...iq.UJru- ~wf)a1J'6lUJrr 

(D) -=:.911q.UUQ)L 1LrrlQ)LD8jQ)Qf ,,Ji>s;rrrols;LOrrs; .ffi1£!llii!J Q)Q.Jp;)'!iru - fT~UJIT 
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126. Which of the following pair/pairs is/are wrong? 

0 

1. Union Public Service Commission Constitutional body 

2. Election Commission Quasi Judicial constitutional body 

3. National Commission for women Statutory body 

4. National Commission for scheduled castes Advisory body 

(A) 2 only 

(B) 2 and 4 only 

Vil( 4 only 

(D) 3 and 4 only 

2. ~rf$6Q} 4Q)QlllTUJtD !>/J@"'!D6 61TrT4Q)LlU ~IJfillUQ>Q)lDU4 

~gitaJmLb 

(A) 2 lDL..@tb 

(B) 2 lDWg)ltD 4 LOL..@tb 

(C) 4 LOL@L.b 

(D) 3 LDlDg)ltD 4 LOL@LD 
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127. Match the following regarding the appointments of judges for Supreme Court and High 

Courts. 

List I List II 

(a) Article 124 1. Chief justices of the high courts 

(b) Article 217 2. Additional judges 

(c) Article 224 3. Ad-hoc judges 

(d) Article 127 4. Supreme court judges 

(a) (b) (c) (d) 

VII' 4 1 2 3 

(B) 4 2 1 3 

(C) 2 1 4 3 

(D) 3 1 2 4 

LH/,/) LDQr!J) LDlD~tD LlUfr~~LDQr!D ,,~U~5'1'1m dllDir~QJ~ Q~ITLfrUITBi t.SlmQJQ;QJafQJ !i:>'1>JD 

QurrQ;~.c£. 

UL~lUQ>I UL~lUCii.> II 

(a) 6l51~ 124 1. LlUir~~LDQrJD .(t~U~BiQr 

(h) Qi)~ 217 2. ~@~Cii.> !i~u~tT.m 

(c) Qi)~ 224 3. ~ Ji>5rr'15) a; !i/J LI fJib'1f 

(d) Qi)~ 127 4. ua:~/JLD'1TJD ~u~ibm 

(a) (b) (c) (d) 

(A) 4 1 2 3 

(B) 4 2 1 3 

(C) 2 1 4 3 

(D) 3 1 2 4 
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128. House committee of constituent assembly was headed by 

(A) B.R. Ambedkar 

VJf B. Pattabhi Sitaramayya 

(C) G.V. Malvalankar 

(D) S.K. Dar 

(A) B.R. ~L.OC:u~rrrr 

(B) B. uL...Lrr~ .fp;rrl)rrmtnti..JUJrr 

(C) G.V. tnrrQJrur&.JBirr 

(D) S.K. ,,rrir 

129. When was Sikkim admitted to Indian Union? 

0 

(A) 1966 

(B) 1971 

~ 1975 

(D) 1980 

(A) 1966 

(B) 1971 

(C) 1975 

(D) 1980 
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130. Inflation is caused by increase in 

¥,If( Money supply 

(B) Production 

(C) Population 

(D) Employment 

(A) u"'8T -=9161flu~ 

131. Which one of the following is the Pradhan Mantri Gram Sadak Yojana (PMGSY) scheme? 

(A) Water connectivity 

~ Road connectivity 

(C) LPG connectivity 

(D) Electricity connectivity 
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132. As per the ranking of WTO for the year 2013, the position of India as the largest exporter 

and as the largest importer of merchandise trade in the world respectively are 

(A) 12th ; 19th 

'flJlf" 19th ; 12th 

(C) gth ; 10th 

(D) 1Qth ; 8th 

1LQ)s; QJrr~ '1>LDUJU1m (WTO) 2013 ~Lh ~Qlsfiq.!fJs;rrQT fhrJ rurrlms: LD~ut)L.iq.Q? uiq.. 1t..Q)s; QJQafl56 

el].$® ruir~~Q) {jfr>fJUJrr, Gu(l!)Lh ~m661Qlrrm 6JW!l)ILD~ LDW!l)!Lh @!D.$®LD~UJrrmr;rrs; ILQrQT .@mQ)a;Q°f 

@m !DClU 

(A) 12 ru~; 19 QJ~ ~®Lh 

(B) 19 QJ~; 12 QJ~ ~®Lh 

(C) 8 QJ~; 10 QJ~ ..!(f,®Lh 

(D) 10 QJ~ ; 8 QJ~ ~t.b 

133. In the demography of India, which one of the following year is called the "year of great 

0 

divide"? 

(A) 1931 

(C) 1881 

~ 1921 

(D) 2011 

{jfr>~u.irr661Q? LDMm Q~rrma; Qu®~Q>, 6Tlbfh ~aiBT@ " t.6ls;uQurfllU i.Slm~ ~aiBT@" (the year of 

great divide) ~m ~'1>~uuu@&l!D~7 

(A) 1931 

(C) 1881 

43 

(B) 1921 

(D) 2011 
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134. Consider the following statements about Vallabhai Patel 

1. He organised no-tax compaign in Bardoli district 

2. He was elected president of the Karachl congress session in 1931 

3. He was arrested during the civil disobedience movement 

4. He died in 1952 

Which of the statements given above is/are correct? 

(A) 1 and 4 only correct 

(B) 1,3 and 4 only correct 

Vl!!f 1,2 and 3 only correct 

(D) 1 and 2 only correct 

1. ufrC~rrrol LOITQJLL~W Qjifl Qs;rrLrr {j)UJ~'1l~ ~Y,~arrrrr 

2. 1931-Q> s;17rrffl s;rrri.J&11Giu BA.L.~!D® ~Q)Q)QJIJITB> G~rrJi>G~@&9>uuL.Lrrrr 

3. s:L....LLOWJLI4 {j)UJ~~m Gurr~ ms;~ Qs:U:..UJuuL.Lrrrr 

4. 1952- Q> ~QJrr ~UJ!i>ms; 6ruJ~QTrrrr 

Gtn!i>a;6ial'L QJIT~&lUJri.Js;QflQ) 61"f}j/61"Q)QJ s:rfl? 

(A) 1 LOWWJLD 4 LOL@Lb s:ifl 

(B) 1, 3 LOJDg)ILD 4 LOL.@Lb s:ifl 

(C) 1, 2 LOWWJLD 3 LOL.@Lb s:ifl 

(D) 1 LOWJ;OlLD 2 LOL.@Lb s:rfl 
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135. 

0 

Match the List I with List II and choose the correct option. 

List I List II 

(a) Pandita Ramabai 1. Social Purity Movement 

(b) Venkata Ratnam Naidu 2. Young Bengal Movement 

(c) Annie Besant 3. Sharada Sadan 

(d) Henry Derozio 4. Madras Hindu Association 

(a) (b) (c) (d) 

(A) 1 2 3 4 

""' 3 1 4 2 

(C) 1 3 4 2 

(D) 3 2 1 4 

uL...~u.Jm-I uL...~u.Jm- n 

(a) UQRsr~~ l]LDITUITuJ 1. S:(y)s; ~ti.J61ltn @UJ~s;L.b 

(b) Qruri.Js;L l]~QTLD ,!!)IT~@ 2. @mi.0 QJ riJ c$ IT61T @UJ N LD 

(c) ~mEillft Que:mL... 3. lflTl]~IT ~Qr 

(d) Q~mi& GLl]mSIGUJrr 4. Q/JQra>QT@.{6~ e:rius;L.b 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 3 1 4 2 

(C) 1 3 4 2 

(D) 3 2 1 4 
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136. 
a b c a+b+c 

If - = - = - then the value of is 
3 4 7 c 

1 
(A) . .J7 

(B) ~ 

wf 2 

(D) 7 

a b c 
-=-=-
3 4 7 

(A) 
1 

.J7 
(B) ~ 

(C) 2 

(D) 7 

Glfl ' a+b+c . f) ' 6T Q) QT LD u4 
c 

137. As air is pumped into a spherical balloon the radius increases from 6 cm to 12 cm. The ratio 

between volume of the balloon in the beginning and the end is 

VII' 1 : 8 

(B) 2 : 7 

(C) 8 : 1 

(D) 2 : 3 

6 Qs:.i.5 4r)'LO Q5rrQiarL Ca;rrm QllltQJ U§2Jr611fl"1> a-.rr!i>@I Qs:~~~uu@LO Curr~ • .!)l~m 4r)'Li:> 12 Gs:.i.5 4a-. 

.!)l~&rfl5.$l !D~ . 4r)'LOu Jb1Q)Q)u5l@J LO. @©l~ jf)l Q)Q}uSl@J LO u§2Jf Glfl m a;QT .!)I QT~a;Qflm "6l.$l~LO UJ rr ~? 

(A) 1 : 8 

(B) 2 : 7 

(C) 8 : 1 

(D) 2:3 
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138. Arun's age is half as his father. Twelve years ago, his father's age was three times that of 

Arun's, what is the present age of Arun? 

~ 24 

(C) 36 

(B) 48 

(D) 12 

~ii>C:urr~ ~®918flar QJlU§J ~QJQT~ ~jiim~i61Qir ruu.J~ru urr~ . 12 ~m@a;~.i® (Y>Qnl.I ~.ffim~uSlm 

QJUJ§J c::!9-1(§918f1Eiirr QJUJQ>~u C:urr~ (!PQr!PJ lDLri.i(!> GTQflru, ~!DC:urrm~UJ ~®918f1Qir QJUJ~ G;TQnaT? 

(A) 24 

(C) 36 

(B) 48 

(D) 12 

139. A person travels from A to B at an average speed of 60 km/hr and B to C at 50 km/hr and 

C to D at 40 km/hr. The distance from A to B, B to C and C to Dare equal. What is the 

0 

average speed of the whole journey? 

(A) 37.68 km/hr 

VJff 48.65 km/hr 

(C) 45.68 km/hr 

(D) 50.00 km/hr 

t 

~(§QJIT A ~Eiirr!D @L~'°'®PJ§l B GfQrJD @LPi~d>(!>tb. B 61"Qr!D @LH1'°1®.ffi§l c ~Qr!D @L~d>(!>Lb. 

C ~ar!D .@L~1>1'°1®.ffi§l D .rm!D .@L~~d>®tb QPm!DC:UJ 60 £1~/lD, 50 £1~/LD, 40 £1LD/lD GTarJD 61Jrr6rfl 

C:QJa;p;~Q> UUJQllTLD G6lLi.$l!Drrfr. AuS1'61@.ffi§l BS.@jtb. Bu51'61@$ii§l CS;(!>L.b . CuS1'61@.d>§l D.$(!>tb @Q>LC:UJ 

~m6TT §lllJ'LD 61DLb .rQflru ~QJIJ'§l Gtnrrp;~ uUJaar~~m 61Jrr6rll C:rua;tb G;Tm6BT? 

(A) 37.68 £1~/LD 

(B) 48.65 £1~/ID 

(C) 45.68 £1~/ID 

(D) 50.00 £1~/ID 
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140. The ratio of two numbers is 3 : 4 and their H .C.F. is 4. Their L.C.M. is 

(A) 12 

(B) 16 

(C) 24 

VJll"' 48 

@IT~@ '1"~a;"1flm 6'6lc$l~ri.Ja;w 3: 4. ~ruGQJ~a;Qflm (H.C.F.) L.OuGu@ Gurr~ a;rrll~ 4. 

~ruGQJEZilsra;allm (L.C.M.) L.58:~g11 Gurr~ LDLri.J@j a;rrEZilsra; 

(A) 12 

(B) 16 

(C) 24 

(D) 48 

141. LCM of two prime numbers x and y (x > y) is 161. The value of 3y-x is 

vi( -2 

(B) -1 

(C) 1 

(D) 2 

3y - x Qr LD~U~ 

(A) -2 

(B) -1 

(C) 1 

(D) 2 
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142. Find the number which is 12% less than 250 . 

.(,,IJll" 2 20 

(B) 215 

(C) 200 

(D) 245 

(A) 220 

(B) 215 

(C) 200 

(D) 245 

143. Find the next letter in the following sequence of alphabets 

0 

M, N, 0, L, R, I, V, ? 

(A) A 

~ E 
(C) F 

(D) H 

M, N, 0, L, R, I, V, ? 

(A) A 

(B) E 

(C) F 

(D) H 
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144. 140 men can finish a piece of work in 11 days. How many days will 110 men take to finish 

the same work? 

(A) 15 days 

(B) 12 days 

(C) 13 days 

"JI( 14 days 

QP!4-LIUrT? 

(A) 15 p;rrL..m 

(B) 12 p; rn:..5ar 

(C) 13 ~rrL...aiar 

(D) 14 ~rrL...aiar 

145. If A: B = 8: 15, B: C = 5: 8 and C: D = 4 : 5 than A: Dis equal to 

(A) 2 : 7 

VII' 4: 15 

(C) 8: 15 

(D) 15 : 4 

A : B = 8 : 15, B : c = 5 : 8 IDJDlt)ll.b c : D = 4 : 5 '1"~6\> A : D Eiisr lD~ULl 

(A) 2 : 7 

(B) 4: 15 

(C) 8 : 15 

(D) 15: 4 
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146. The difference between two parallel sides of a trapezium is 4 cm. The perpendicular 

distance between them is 19 cm. If the area of the trapezium is 475 cm2
, find the lengths of 

the parallel sides 

(A) 20 cm and 16 cm 

~ 27 cm and 23 cm 

(C) 27 cm and 20 cm 

(D) 25 cm and 23 cm 

~® s:tflQJa;P,~Qi @® @Q'l~ ud;a;r&ls;ffi!Qi 6'61P,~UJrrs:tb 4 Qs:iE. Gtn@).lt.h @GiJ6'61(!9 @Ql~ 

u8ia;ri.Js;~.$.$lQ>LGUJ ~mm Qs:riii®~~ ~rytb 19 Qs:iE. s:tfl6Us;P,~Qi uryuum~ 475 Qa:iE2 GTmlru ~~Qi 

@®@QlERT ud;s;ri.Js;ffi!Qi ~m~s;m UJrrQlQJ? 

(A) 20 Qs:iE tn!f>gittb 16 Ga:iE 

(B) 27 Qgu) tn!f>giitb 23 Qs:iE 

(C) 27 Qs:iE LDrDl!J!Lh 20 Gs:iE 

(D) 25 Qs:u) LDrDglltb 23 Qgu) 

147. The perimeters of two squares are 40 cm and 32 cm. Find the perimeter of a third square 

whose area is equal to the difference of the areas of the two squares. 

0 

(A) 40cm 

(B) 36cm 

(C) 12cm 

~ 24cm 

@ry61iu'r@ s:~ryr&is;ffi!Qi Bifi>!Dw~s;m QPQ"l!DGUJ 40 Gs:iE tn!DJ;o!Lh 32 Gs:iE. @6u6'6l® "~gr&ia;mlQ-1 

uryuum6l51Qi 6'6l~~UJrra~m~u uryuumQJrrs;.$ Qs;rr6ilu'rL e!:PQi!DrrQJ~ ~'l:2;~Qi BilD!D61T~ GTQrQr? 

(A) 40 Q"iE 

(B) 36 Gau5 

(C) 12 G6tE 

(D) 24 Gs:iE 
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148. I. The dimension of gravitational constant is M-1L3T-2 
• 

II. The dimension of surface tension is MT-2
• 

Comment about the above statements. 

(A) I is true but II is false 

(B) II is true but I is false 

J Both I and II are true 

(D) Both I and II are false 

II. u11u4 @~QS1Q)s:u9'8t uiflLDrrQllTri.Ja;Q-r MT-2
• 

C:LD!i>a;liiBTL BilWt!)Mm'1Tu u£i>jfil '6lLOr'r8155~tb. 

(A) I GLDU:.. 46amQ> II GurrU:.. BilJi>Wf5&mrr®tb 

(B) II <dLDU:.. 4arrrQ> I Qurrli.J Bil!i>gii8ia;'1Trr®tb 

(C) I tDWg)ltD II ~UJ @11'*r@tb GLOU:.. BilW~M'1TIT®LD 

(D) I LD!i>!Jlllb II ~UJ @11'*r@Lb GurrU:.. BnJDg)IM'1TIT®LD 

149. Identify the correctly matched pairs among the following. 

I. Spherometer measures the curvature of lenses 

II. Voltameter measures electric voltage in a circuit 

III. Theodolite measures horizontal and vertical angles with great accuracy 

(A) I and II only '1Jf I and III only 

(C) II and III only (D) I, II and III 

t.SlfiilQJ®QJ68TQJJDg)l'1r. s:iflUJrra; Qurr®;>~uuL..@'1r'1T @m'111Ta;mQT ~a>LUJrrmLb .srrL..@.s. 

I. '1uGu11rrLDrr6afl - '61Q>mQ)a;QflfiiJ 6l.JQ>'1TQSlmm ~'1T'6l@Lb 

II. C:QJrrQ>LrrLDrr6afl - l.6lfiil.$d>J6lwi'1T'1T ..&mmQg;>~~m~ ~'1T'6l@Lb 

III. $fJC:UJrrLQ>Q)L@ - &lmLLOL..L LD!i>~Lb Q"ri.J®~5 C:.SrrQIBTrila;Q)aT ~$fJ.s ~Q,QS)UJ~C:~rr@ 

~ar'6l@Lb 

(A) I ID!i>~Lb II LDL..@Lb 

(C) II LDWWILD Ill LDL@LD 
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150. Arrange the following in the increasing order of oxidation state of sulphur. 

so~-. s 20!-. s20~-

151. 

0 

(A) so~- < S20!- < S20~- (B) S20~- < so:- < S20!­

vt( s 20!- < so:- < s20~-
6'Uufr ~~6-6lm 4&'1'l51~<!m!D!D ~~ ~~uuQ)Lt6lm i5lmQ.J®QJ61STQJJDQ'l!D 'Jll)IQJrflQ'la:t6lm ~@~a;. 

so~- . s20!-. s20~-
(A) so:-< S20!- < S20~- (B) S20~- < so:- < S20!­

(D) s20!- < so~- < s20~-(C) S20:- < S20~- < so~-

Match List I with List II and List Ill. Choose the correct option. 

List I List II List III 

I. Nitric oxide (a) Brown gas (i) Anhydride of HN03 

II. Volatile solid (b) Nitrous oxide (ii) Mild anaesthetic 

III. Anhydride of (c) Neutral colorless gas (iii) Lead chamber process 

HN02 and HN03 

IV. Laughing gas (d) Nitrogen pentoxide (iv) Nitrogen dioxide 

(A) 1-a-i II-b-iv 111-d-iii IV-c-ii 

(B) I-b-ii 11-c-iii IIl-d-i IV-a-iv 
,gf 1-c-iii II-d-i III-a-iv IV-b-ii 

(D) 1-d-iv II-a-ii Ill-b-iii IV-c-i 

uL.~UJru IQ')JD uL.~UJru II LD!DWJib uL.~UJru Ill ILLm Gurr®~/). a:rf1UJrrm 6-61Q')LQ)UJ~ <!p;fr~Qp;@Bia;Qjl.b . 

I. 

II. 

Ill. 

IV. 

(A) 

(B) 

(C) 

(D) 

UL~UJQl I 

6l>p;L.rf1.$ 4.$61>a:@ 

46-61UJrT@) ~~lDLb 

HN02 LO!i>WJl.b 

HN03 m )trfl6l51 

6Jrflu~L..@ib QJITlJ..j 

1-a-i II-b-iv 

1-b-ii 11-c-iii 

1-c-iii II-d-i 

1-d-iv II-a-ii 

. 
uL.~UJruII uL.~UJ~III 

(a) 

(b) 

u~ul.l 6\JITlll (i) HN03 m Jtrfl6l51 

61>!JiLlj~ 48iQ'la=@ (ii) QJ6l516\.j@)Q'l!D LDUJBiB;(y)L~ 

(c) .@!DLDW!D p;@.@61>"' QJrrlJ..j (iii) QQ)L..-<!a:Lburr <Yl"'!D 

(d) Q')p;L..1T~m GumLrr&Q'la:@ 

III-d-iii IV-c-ii 

III-d-i IV-a-iv 

III-a-iv IV-b-ii 

111-b--iii IV-c-i 

53 

(iv) QlpjLJj~m Q'lLUJIT .$Q>a:@ 
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152. Consider the following statements, which of the following is/are true/false? 

1. Plants inhabiting places where there is scarcity of nitrogenous materials capture and 
digest small insects called carnivorous plants. 

2. These plants depend only partially on this irregular nutrition as they possess normal 
leaves and roots. 

(A) 1 only true 

(B) 2 only true 

Vlf" both 1 and 2 are true 

(D) both 1 and 2 are false 

£ws;~L G'Urrffi.ilUJri.JB;rolru e:ifl/~Q.Jw tOT~/tOT6J>QJ? 

I. mp>L...C1Jrr~QTbi\> Qurr(!J)LB;ro u!f>!DrTBi@im!DUJrTBi fLmm .@Lrfil8i61'flru rurr@Lb ~rT6l..JIJri.Js;m 6lwi 

~8:fi\c$6J>G!Tu LSI~~~ ~IJ~.$.ilm!Dar . .@m6l..l ~8:61 fL~~L.O ~rr6l..Jl]ri.Js;m 4@ii.b. 

2. .@~~rr6l.J1Jri.ls;m .@6J>roB;m6TTli..Ji.b CQJrra;mmli..Ji.b GuJi>giiro6TT~rrru CLOruafl.!&UJ ~@ri.is;!f>!D fLQm"~ 

QP6Jl!DQlUJu u@i~ ~6TTC6l.J e:rrrrlh~mG1Tar. 

(A) 1 LOL...@Lb e:ifl 

(B) 2 LOL...@Lb e:ifl 

(C) l LD!f>!PJL.O 2 s:ifl 

(D) l LDJi>!!)li.b 2 ~6l..JIDJ 

153. Aleurone grains are 

(A) oil bodies 

(C) fat globules 

~'151li..J1Jrrm LD~B;m ~aruu@umGU 

(A) ~~Q~nu fLuuri.is;m 

(C) Qs;rr@Lil...I ~QJQ>rua;ro 

(B) starch bodies 

"'1Jlf protein bodies 

(B) wLrrrr5 fLLrori.Ja;6Tr 

(D) L1C1JrrL...1.&.m ~-LQ)ri.Js;m 

154. The hormone involved in calcium phosphate homeostasis is 

~ Paratharmone (B) Glucagon 

(C) Thyroxine (D) Oxytocin 

a;rrru6lUJLi::> urrbiuCuL... ~@ri.J®urrL...~ru Fl'@uLBisn.~UJ ~rrrrCLDrrm 

(A) urrlJ~rrrrCinrrm (B) ®~.$Cs;rrs;rrm 

(C) m~l]rrBi6lm (D) d'tb6;G>n5\Lrr6lm 
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155. In which atmospheric layer is ozone found? 

.l(l{f Stratosphere 

(C) ~esosphere 

(A) '11>L..vrrCLrrQuLS1UJrr 

(C) uSlC6rr'1uLS1UJrr 

(B) Ionosphere 

(D) Troposphere 

(B) d!UJC:QTrr'1\>LSlUJir 

(D) L..C:vrr<:urr'1ul.S1UJir 

156. Find the odd-one out of the following fiber-optic Internet and television services. 

• 

(A) Google fiber 

(C) Verizon fios 

(A) Bil.@)ci.> :.Q'luuir 

(C) QQJiflWrrQr .".t.SlUJrrGiu 

(B) Google plex 

VJlf Google glass 

(B) Bil.@>ci.> LSlmBiw 

(D) Bil.@)ci.> &IQTITQ\> 

157. The train which travels for the longest distance in India 

(A) J anata express 

(B) Grand trunk express 

~ Vivek express 

(D) Suvidha express 

@.mPUJrrG6lru "'*rL ~IJ uUJQl5l'Li:> Q6'U~Li:> vuSlru GT~? 

(A) eaar"rr 6T5wi.51116iu 

(B) 5lvrr'*rL..11riu 6T.9iwt.S111·w 

(C) G6\C:QJ.!i 6T5Giut.Sl11Giu 

(D) a;Qj"rr '1"5'1\>i.SllJIOiu 

0 55 AJGST/16 
[Turn over 



158. Consider the following pairs of satellite and country. 

159. 

I. Tianhui-1 - China 

II. Dongfanghong-1 - Japan 

III. GSAT-6 India 

Which of the pair given above is/are correct? 

""' I and III only (B) I and II only 

(C) II and III only (D) I, II and III 

i.SlmQJGL.b Gs:UJ!iJtil>uGa;rrifr w!iJwU:i JDrr@ .@Q)~a;Q)QT a;®~a;. 

l. ~UJITQr~-O~uJ-} - 6QfilT 

II. urri.J:.urrri.J~rrri.J-1 - Biluurrm 

III. ~s:rrL..-6 - @fr>~UJrr 

@6U!i>JDlru fir~ I fif Q)QJ s:rfl UJ rrQfi @Q)fiW /@mQS/11' 5Eif? 

(A) I LDJD!!)llD III LDL..@tb 

(C) II LDJDJ!)llD III LOL@Lb 

W20 and Y20 of G20 stands for 

~ Women 20 and Youth 20 

(B) World 20 and Yemen 20 

(C) Writ 20 and Yatra 20 

(D) War 20 and Yield 20 

G20uSIQfi~ W20 LDJDg)llD Y20 fiTQrU~ 

(A) Women 20 LDJDg)ltb Youth 20 4@)tb 

(B) World 20 LD!i>!!)!Lb Yemen 20 ~lb 

(C) Writ 20 LO!i>l))ltb Yatra 20 4@)1.b 

(D) War 20 LD!Dll)Jtb Yield 20 ~®tb 

(B) I LDW!J)llD II LDL@tb 

(D) I, II LOJD!J)ltb III 
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160. Pick out the incorrect statement among the following about common wealth games 2022. 

161. 

0 

(A) South African city of Durban has been chosen to host the games 

"'WJff' The next common wealth games will be held in 2027 

(C) The games will be held in Africa for the first time 

(D) The games are scheduled to be held from July 18 to 30, 2022 

2022 @!iJa;rrQT a;rri.nmGruru::!> 61SlmmUJrrL@a;mmu u!iJp5lUJ £wBi~L ~li.>filJBi"1flru fb61.11J)ITQT ~mm!JJ 

Gfbri"~Q~@. 

(B) @~.ID® ~@~lb a;mnmGrurufi; 61SlmmllJrrL@a;m, 2027 @ru p;mLGuroilb 

(C) @Qi61SlmmllJrrL@, 4ut5lrfl.$a;rr61Slru J!)Q>LGU!1)161.J~ @~Gru QPfbW (!PQ>!J)llJIT@)lD 

(D) 2022. ~-f)Q)Q) 18 QP~W 30 61.JQ)I]", @Qi~61)Ql'llJITL@ p;mLGLI!JJ ~LLt.6lu.JuL._@srnrr~ 

'Rajasri' is a new variety of developed by SPVNR Telangana State 

University, Hyderabad. 

VII" chicken 

(B) goat 

(C) paddy 

(D) sugarcane 

m~flilJ"rTurrfi; SPVNR Gfb~riila;rrQTrr tnrrj5lru urua;mQ>.$ a;~a;fi;lbrrru ~®rurr.$a;uuLL 'IJrr~~· 6Tmu~ 

Lj~llJ QJQ)ai @mlDIT@)tb. 

(A) Ga;rr~ 

(B) QQJmmrr@ 

(C) Gp;ru 

(D) .$@llDL.j 
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162. Match List I with List II and select the correct answer. 

List I List II 

(a) Swadhar Greh scheme 1. Mahar as tr a 

(b) Mission Abaas 2. Ker ala 

(c) Operation Vatsalya 3. Odisha 

(d) APJ Abdul Kalaro Amrut Yojana 4. Haryana 

(a) . (b) (c) (d) 

(A) 1 3 4 2 

WI( 4 3 2 1 

(C) 2 4 3 1 

(D) 3 4 2 1 

ULlq.UJWl uL.iq.UJtii> 11 

(a) ~IT~rT Qa;C:IJ ~LLUl L LD~ITIJIT~lq.IJIT 

(b) uSl~6in ~urrw 2. Cs;vmrr 

(c) 4u<:v~6in QJ~6Q>UJrr 3. Vllq.61T 

(d) "t51<:m ~u~wa;Q>rrtb ~tb<!9~ CUJrrmQllrr 4. ~rflUJITQTIT 

(a) (b) (c) (d) 

(A) 1 3 4 2 

(B) 4 3 2 1 

(C) 2 4 3 1 

(D) 3 4 2 1 
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163. 'Giant kelp' refers to what? 

(A) largest sundial in the world 

"11/f" fastest growing weed in the sea 

(C) largest polar bear 

(D) fastest broadband network in the world 

164. The GSAT-15 satellite is used for 

~ communications 

(B) earth resources 

(C) weather forecast 

(D) navigation 
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165. Match List I with List II and select the correct answer using the codes given below. 

List I List II 

(a) Zonda 1. Sahara 

(b) Harmattan 2. Siberia 

(c) Mistral 3. Argentina 

(d) Blizzard 4. France 

(a) (b) (c) (d) 

~ 3 1 4 2 

(B) 1 3 4 2 

(C) 3 1 2 4 

(D) 4 3 2 1 

uL..iq.l.UQ> l-tLLm uL..iq.u.JQ> II-mu 

Q~rfl~ Q6li.Jc$. 

u L..iq. l.U Q> I ULlq.UJQ> II 

(a) Qa:rrmLrr 1. 

(b) ~rhDLLITQr 2. 

(c) uSlwL..rrQ> 3. 

(d) tSl rol roiuw rrrr@ 4. 

(a) (b) (c) (d) 

(A) 3 1 4 2 

(B) 1 3 4 2 

(C) 3 1 2 4 

(D) 4 3 2 1 
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166. The natural disaster 'Lahar' is associated with 

(A) Landslide (B) Flood 

~ Volcanic eruption {D) Earthquake 

· ro~rrfr' ~muu@Lb@UJd>ma;u CuITlLfr @fh®JLQJ- Gp;rruh.~mLUJ~? 

(A) .@Q)6s:rrl~ (B) QQJ6frrol.b 

(C) ~rrllDmQ)6 6fi>i:oi.b (D) y~UJ~fr~ 

167. Population density in India as per 2011 census is 

(A) 367 per sqkm \JJlf' 382 per sqkm 

(C) 420 per sqkm (D) 501 per sqkm 

2011 LO.$a;L.Gp;rrma; a;Em.$Ga;@ut51Qi- U"J-. @.ffi~UJrr~Qi- lDMm Gp;rrmB> Gs:!Dl~ 

(A) 367 ~IJ ..tl.Lli (B) 382 s:~IJ ..tl.Lli 

(C) 420 s:~IJ ..tl.Lli (D) 501 s:~rr ..tl.Lli 

168. Identify the Indian social reformer who first used the term "Swaraj" and insisted the people 
to use Swadesi things 

0 

(A) Swami Vivekananda 

~ Swami Dayanda Saraswathi 

(C) Sir Syed Ahmed Khan 

(D) Raja Ram Mohan Roy 

~JI>p; @.ffi~UJ s:~a; 6fr~®~P>Q.Jrr~ (l:Pp;Qi- QPp;QSJGi\> "BTUJIJrr~~UJl.O" ~Qi-!D Ga:rr@giQ) uUJmu@~~QTrrfr? 

a.Cp;§l Qurr@L.a;mm uUJQJ-u@~~Lbuiq.~Lb an.!DlQTrrfr? 

(A) BT6l.Jrrt.6l ~C6Ua;rrQTJ!>p;fr 

(B) BTQJrruSl p;UJrrQTJ!>p; S:fJW6l.J~ 

(C) a:r'r Q'ls:UJ~ ~a;U)§Ja;rrQi-

(D) 17rr~rr1Jrri.O Ctorra;6isr17rru'..J 
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169. Which constitutional amendment recognises the languages Dogri, Bodo, Maithili and 

Santhali? 

(A) g7th amendment 

(C) 9Qth amendment 

(B) 88th amendment 

\lillf 92°d amendment 

'1"Jbtf> ~g5lu.JroQ>LDUL..1 6LL ~(!!)jitz>t.0. GurBirfl. GurrGLrr, 61>W~'151. 6rr.ffi~rr'151 Qwrr~s;~.$@) ~ri.J&s;rrlJ"LD 

~'1flp;~mm~? 

(A) 876\J~ 6LL~(!!}p;tz>t.0 

(C) 906ll~ 6LLp;~®p;~t.0 

(B) 8861.1~ 6LLp;~®p;tz>t.0 

(D) 926\J£91 6LL~~(!!}~~t.0 

170. The Navagriha sculptures were first installed in South Indian temples by the 

(A) Pallavas 

~ Pandyas 

(A) ururoadrs;m 

(B) Cholas 

(D) Rastrakutas 

(B) G6rr~r'rs;m 

(D) @'Trr~LIJ"&.Lr'rs;m 

171. Who was the first woman elected to Madras Legislature and acted as Deputy Speaker for 

eight years? 

(A) Muthulakshmi Reddy 

(C) Rukmini Arundale 

~ Rukmini Lakshmipathi 

(D) Madam Gama 

Qe:~Q'l6al lDIT<'hlTEm' 6LL 6a>Uc!ii@) G~irQ.( Qe:l.IJu.JULILL QPtz>ru Qu61Rir LWJUt.S160T(!9LD, '1"L@ ~61Rir@s;m 

Ltf>6°61 6U rT]fl ITUJ<'b IJ"IT a; LI Qllfl UJ rr!i> jfil UJ QJ (!!} LD UJ IT fr? 

(A) QPPi~roL..s.ih1 QgL..llJ-

(C) @.$ih1Qllfl ~(!961RirGLQ> (D) GwLt.0 s;rrwrr 
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172. Who was not a member of Aimperunkulu? 

(A) Purohit 

(B) Senapathi 

(C) Mantri 

l1Jl'f" Treasurer 

(A) yC17rr£~rr 

(B) ~ITU~ 

(C) LDii>~fil 

(D) 5(!!1~GU <:!91~a;rrifl 

173. The self respect Marriage Act was passed by -----, the Chief Minister of Tamilnadu 

in the year------

0 

(A) C. Rajagopalachari, 1954 

(B) K. Kamarajar, 1955 

~ C.N. Annadurai, 1967 

(D) M. Karunanidhi, 1990 

~UJLDfilUJITQ)~ ~(!!ILDGATS 6L.Li>a>f> Qa;rr6i8r@ QJibf> ------. ~uCurra>~UJ ~uSl~a; QJ>,,'1>QlrT, 

Qe;rr6i8r@ QJl1LILILL 4'88T@ ------

(A) ~@I· Bl. 111T~ITUITQ>ITfflTfilUJITrT, 1954 

(B) ~@I· ®· ailTLDl11T6Jl, 1955 

(C) ~®· Bl.'1"'1T. ~6i8TQ18TIT~Q>17, 1967 . 

(D) ~@I· QP· Bi(!!IGATIT.ffil~ . 1990 
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174. Who was the First President of India? 

(A) Pandit Jawaharlal Nehru 

'l,jil!f Dr. Rajendra Prasad 

@Ji;~ lLI IT 6lS\ 6irr (y>~Q) @j ~lLI I}" 6r ~Q')Q)QJ fr lLI IT fr? 

(A) u~~i.:_ ~QJ~frQ>rrQ) C:p;(!!) 

(C) LITBiLrr. 17rr(]~~'l L5l17a:rr~ 

175. Match the following. 

(a) War emergency 

(b) Constitutional emergency in the states 

(c) Suspension of fundamental rights 

(d) Financial emergency 

(a) (b) (c) (d) 

Vt/ff 4 3 2 1 

(B) 3 4 1 2 

(C) 2 1 3 4 

(D) 1 2 4 3 

L5l6i!TQJ(!!)QJm6lJJi>m!D Qurr®~~a; . 

(a) C:urrfr ~QJa:l}",@mru 

(b) LDrr.ffilrur6Ja;'1flru ~178l1LirumLDu4 ~rua:17.ffilQ'lru 

(c) ~~uumL SLiflmLDa;mm .ffilw~~ mru~~ru 

(d) ,[bl~ ~Q.Ja:17.@mru 

. 
(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 3 4 1 2 

(C) 2 1 3 4 

(D) 1 2 4 3 
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(B) Lal Bahadur Shastri 

(D) C. Rajagopalachari 

(B) rurrru u~~fr a:rrGiu~ifl 

(D) 51. 17rr~(]a;rru rrrurri!fa:rrifl 

1. Article 360 

2. Article 359 

3. Article 356 

4. Article 352 

1. 61Sl~ 360 

2. 61Sl~ 359 

3. 61Sl~ 356 

4. 61Sl~ 352 

0 



176. Choose the correct hierarchy of the Election machinery at the state level for conducting 

parliamentary and assembly elections. 

1. Chief Electoral Officer 

2. Presiding Officer 

3. Returning Officer 

4. Polling Officer 

.t(Jlf 1-2-3-4 

(C) 1 - 4 :- 2 - 3 

(B) 1-3-2-4 

(D) 1-3-4-2 

ll)rr"51Ql ~m6l51Gi> urr17rr~ll)Qrl!) LOJDWft.b S:LLLDQr!D C~fr~Q.la;mw JDL~~QJ~!Da;rrm C~!T~Q> @UJ,ID~'l~~Qi­

s:rflUJrrQT ~~BirT'l u~.ffilmQl Qlrflm6'f>UJ C~irJi;Q~@.$s;. 

1. QP~Qi-mLD Cp;ir~Gi> ~~,g;rrrfl 

2. QJrT6>®UITQJ~ ~QlQ)(;IHD ~~s;rrrfl 

3. C~fr~Q> Gurrroiu4 &1§216\Jrufr 

4. Q.Jrr.$®Liu~~ ~~s;rrifl 

(A) 1- 2- 3- 4 

(C) 1-4-2-3 

(B) 1- 3 - 2-4 

(D) 1-3-4-2 

177. The constitution of Jammu and Kashmir was adopted in the year 

(A) 1950 (B) 1952 

(C) 1954 ~ 1957 

~t.bQP LDJDg!lt.b s;rr~i.OrflQi- &11lSltuQ)a>LDu4 t5lQi-ud>wuuL..L 6\J(!9Lt.b 

(A) 1950 (B) 1952 

(C) 1954 (D) 1957 
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178. Which of the following committee's consists of representatives of both the houses of 

parliament? 

1. Estimates committee 

2. Committee on sub-ordinate legislation 

3. Public accounts committee 

4. Committee on public undertakings 

(A) 1and4 only 

(B) 1, 2 and 3 only 

~ 3 and 4 only 

(D) l, 3 and 4 only 

L.Sl6irQJ(!!)QJ611TQ.JlDf!)lifr ~fr,,, ®@( 8;a;ifr) UITIJIT~LDQrj!)~Qr @IJ'~@ ~Q)QJa;Qf)Qr l!....!!,)ILJLSlmrra;Q'JQT 

Qa;rr6iar@6TI'mm? 

1. lD~utSL.@ ®@ 

2. .Jrrrr4 .JLLu51UJd>!DE.i> ®@ 

3. Gurr~&$QaTB;@) ®@ 

4. Gurr~~~m!D ~!!JIQJ611Tri.Ja;~d;a;rrm ®@ 

(A) 1 LDJDf!)IW 4 LDL@Lh . 

(B) 1, 2 lDlDf!)IW 3 LDL@lb 

(C) 3 LDJD!!JIW 4 lDL@Lh 

(D) 1, 3 LDJDf!)IW 4 LDL@Lh 
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179. Match the following 

(a) First schedule 

(b) Fifth schedule 

(c) Seventh schedule 

(d) Twelfth schedule 

(a) (b) (c) 

'\JI" 2 1 4 

(B) 4 3 2 

(C) 3 4 1 

(D) 1 2 3 

i.SlQrQJ@QJ6BTQJJDQ>ID Gurr@P,~s; :' 

(a) @f>ro ~LLQJQ')QDT 

(b) msb~ITQJ~ c:!91LLQJQ>QllT 

(c) ']"~ITQJ~ c:!91LLQJ61lQllT 

1. Administration and control of scheduled castes and 

scheduled tribes 

2. Names of the states and union territories 

3. Nagar Palikas added by 74th constitutional amendment 

4. Division of powers between the union and the states 

(d) 

3 

1 

2 

4 

urrQS'ls;rrGiu 

(d) uEiirafl iy'*rLIT6U~ ~ LLQJQ')QllT 4. LD~~UJ LOJDIIJILO LOIT.ffilQlri.J8i(@:!)6i@>@md~UJUJITQT 

(a) (b) 

• (A) 2 1 

(B) 4 3 

(C) 3 4 

(D) 1 2 

0 

(c) 

4 

2 

1 

3 

(d) 

3 

1 

2 

4 

c:!9I ~.s; rriyr&J a;Qfl Qr i.Sl ifl Qj 
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180. The chairn:,1.an of India's fourteenth finance commission is 

(A) C. Rangarajan 

(B) AM. Khusro 

(C) Y.B. Cbavan 

\flf Y.V. Reddy 

(A) 61. Q17r6.Js;rrrr~6ilr 

(B) 6T. •nil. ®WC:IJ"IT 

(C) 9li.J. t.Sl. 6QJITQr 

(D) 91LJ .~. Q17L..~ 

181. Green revolution means 

(A) Afforestation 

VJJ/f Using of HYV seeds, chemical fertilizers, pesticides and machineries 

(C) Greening the environment 

(D) Sapling more plants 

U~lDU L!IJ"Lil G;rQrrU~ 

(A) a;rr@a;Q>QT fL®QJIT8;®QJ~ 

(B) ~iftlU G61~&&~. @11"rr1U'1111' LIJ'ri.Ja;m, ~~615 Qa;rrQ>GlSla;m, jUJ.ffi~ 17ri.Ja;Q)QT uUJ6'ru@~~QJ~ 

(C) sr!D@ILILl!D~~W"'Q) Us;Q)LDlUrr&C§QJ~ 

(D) ~~a; ~'11'66\Q> Q..,~QT p>@QJ~ 
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182. Identify the non-wage employment programme from the following. 

(A) Jawahar Rozgar Yojana 

"1l'f Indira Awas Yojana 

(C) National Rural Employment guarantee scheme 

(D) TRYSEM 

(D) TRYSEM 

183. India's first green field special economic zone is 

(A) SEZ Bhadhon 

(B) SEZ Vishakapattinam 

~ SEZindore 

(D) SEZ Noida 

(A) SEZ Bhadhon 

(B) SEZ Visbakapattinam 

(C) SEZ Indore 

(D) SEZ Noida 
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184. Who among the following resigned from the membership of the Viceroy's Executive Council 

as a protest against 'Jallianwala Bagh Massacre'? 

""' Sir Shankaran Nair 

(B) S.P. Sinha 

(C) Ramasamy Iyer 

(D) M.M. Malavia 

£~561isrLQJrT&9fl6i> UJITrT 'tJ61T~lU6ilr QJITQ)ITUIT~ u@Qa;rrmQ>' ~@) ~~ITLIL.l Q$hrfl6'6l~@)tD QJ61)c$uS)QJ Q)QJi\l]"rruJ 

J£)rrQJrra; ®@ 1LgiJLii5lmfr u~6'6161>lU 17rr~mmDrr Gs:u'..Jthrrrr? 

(A) s:fr s:ri.Ja;1]"68l p;rrUJir 

(B) GiTW.i51. ilm~rr 

(C) @lfrrtDs:rrLDl fBUJrT 

(D) GiTtD .~tD . lDIT6IT6'61UJrr 

185. Identify who was not a member of the committee, which enquired the mishap of migration of 

Hindu-Muslim, during the partition of India? 

(A) Justice G.D. Ghosla 

(B) Pendersun Moon 

(C) H.V. Hudson 

~ Major Gen. Rees 

@,!6~UJ i.Sl~6'6lmmuS168T Curr~. @.!6~-@GifuQ>rruSlUJfr @u:iGuUJir66lQ> 'J!i>Ul...L 6l.J®~~~~.$8i ~8i~QJ 

®!DlPi~ 61S1s:rrl]"m~ JJ)L~ ~UJLDl~8iUULL ®@~'1.> @LtbGU!l)IT~ IL~ui5lmml]" ~Q)LUJITQTtD s;rr61isra;. 

(A) f,~u~ ~ -~- Ca;rr~Q)rr 

(B) Qu68TLfrs:Ei8T {!P6ilJ 

(C) Gir6. 6'61. ~L...s:Gilr 

(D) ClD~fr GtJ6ml)'ru ff w 
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186. Which of the pairs given below are correct? 

187. 

0 

I. Mangal Pande Barrackpur 

II. Nana Sahib Kanpur 

Jhansi III. Maulavi Ahmadullah 

~ I and II only (B) I only 

(C) II only (D) II and III only 

LS!ArQJ®W .@Q'lQl8T5'1flGi> ~~ 11rfl1U1TQTQ'lQJ? 

I. LDri.Ja;Q> urraiBTCL u17rr.$~ri' 

II. Jb1T'8Trr 11rr&lu a;rrar~rr 

III. GLDQTQ)rr"61 ~a;LD~Gi>Q)rr - ~rraril 

(A) I LDlD!!JlD II lDL@ib (B) I lDL@ib 

(C) II LDL@ib (D) II LD!i>~ib III lDL@W 

Choose the wrong pair/s. 

1. The communist party of India 1925 

2. The communist party of India (Marxist) 1964 

3. Akali Dal 1944 

4. Swatantara party 1959 

(A) 1 only (B) 1 and 2 only _, 
3 only (D) 1and4 only 

1. .@Jf>~IU 5w~'1flwL.. a;L..il 1925 

2. ®/b~IU a;w~aflwL.. a;L..il ( LDrrrra.illSlwL) 1964 

3. ~a;rr'61 ~iTTib 1944 

4. ~Jbl)IJIT a;L._il 1959 

(A) l U>L..@ib (B) 1 LDlDg)IW 2 lDL@ib 

(C) 3 LDL@ib (D) 1 lD!f>~ib 4 U>L.@ib 

71 AJGST/16 
[Turn over 



188. If 2x + 3y - 5z = 0 and ·_ 3x + 2y + 7 z = 0 then the ratio x : y : z is equal to 

.J 31: 1 : 13 . 

(B) 1 : 13 : 31 

(C) 2:3:5 

(D) 13: 7: 5 

2x + 3y - 5z = 0 C:tn~tb - 3x + 2y + 7 z = 0 "°~Q) x: y: z '1"6in!D "6l&l1fitb '1"1fiJD®6 a:tnlb? 

(A) 31: 1 : 13 

(B) 1 : 13: 31 

(C) 2 : 3:5 

(D) 13: 7: 5 

189. What integer must be added to each of the four numbers 10, 18, 22, 38 so that they become a 

proportion? 

(A) 4 

(B) 14 

~ 2 

(D) 12 

10, 18, 22, 38 ~6in!D p;rr6in® ~·a>~L@)ILD '1"fblfi QPQ9 '1"QarQlQll' 8i\.Ltq..QITfTQl .$lQ>Lo!ii®tb ~Cilisra;Q,. ~® 

66'1£1fi llLDj,Ql,, o:!P!QlLDo!ii®tD? 

(A) 4 

(B) 14 

(C) 2 

(D) 12 
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190. A tank can be filled by an inlet tap in 10 hours and it can be emptied by an outlet pipe in 

12 hours. If both the inlet tap and outlet pipe are opened, find the time taken to fill the tank 

(A) 120 hrs 

W 60hrs 

(C) 30 hrs 

(D) 15 hrs 

~® Jt;rr~Qp;rrL.14-mUJ .ffi]1Juu ~® ®wrriU.$® 10 LD~ C:p;JJtb 4£!!>~· .£rrp;Qp;rrL.14- QP@QJQ)~llltb a;rr~ 

Qc!fiJUJ QQJ"1ftC:UJJi>rottb ®wrru:.iBi® 12 LO~ Gp;JJtb 4£11>~· ~JJuL.jtb ®wrru..itb QQJQflC:UJJi>{!)ltb ®Wrrllltb 

~GI] c!fLDUJUJ'1> ~!D~8iUULLIT'1> )Errp;Gp;rrL...14-.ffilJJUL.jQJpjJD® ~®tb t'ljfTQ)i.b GiTmQT? 

(A) 120 LD~ 

(B) 60 LD~ 

(C) 30 LD~ 

(D) 15 LD~ 

191. In the graph of y = -3x2
, what is the value of ordinate when the abscissa is - 2? 

0 

(A) 

(C) 

12 

2 

3 

VJlf' -12 

(D) ~ 

y = -3x2 '1'm.11> QJQ)IJULUJ'1> £Q>LLOLL 4UJ8iBil..£DI - 2 6TQT ~®Bi®tb Gurr~ G61'&l®~~ 4UJ.$Bi!..ifjlm 

LD~LIL.j UJJT~? 

(A) 

(C) 

12 

2 
3 

73 

(B) -12 

(D) ~ 

AJGST/16 
[Turn over 



192. If.!. of a pencil is black, .!. of the remaining is white and the remaining at cm is blue, find 
8 2 

the length of the pencil 

(A) 6 cm 

~ Bcm 

(C) 10 cm 

(D) 12 cm 

~® Qu6isr6l'151Eiisr .!. uffil® c$(!;Ul..j .ffil!DLOIT®tb. u)~tb ILffiQ'T U®~uSlru .!. uffil® QQJffiQ)QTUJrT&Qitb ~~"' 
8 2 

u)~tb 1t..ffi61T LI®~ at Qs:u) ~QTQj P,ro .ffilJDLDIT&Qjtb fLQrQTQ~QflQ:i. QuEiiJr6)'1S)EiiJr Ql.OrrP,~ P,mtb ~Qim? 

(A) 6 Qs:tE 

(B) 8 Qa:u) 

(C) 10 Qs:u) 

(D) 12 Qa:u) 

19a. If x % of y is 100 and y % of z is 200, then the relation between x and z . 

(A) 
x 

z=-
2 

Vllf' z =2x 

(C) 
x 

Z=-
4 

(D) z = 4x 

(A) 
x 

Z=-
2 

(B) Z=2x 

(C) 
x 

Z=-
4 

(D) z =4x 
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194. Find the odd man out in the series 

2, 3, 4, 4, 6, 8, 9, 12, 16 

(A) 3 

(B) 6 

t(/tf 9 

(D) 12 

2, 3, 4,4,6, 8,9, 12, 16 

(A) 3 

(B) 6 

(C) 9 

(D) 12 

195. Find the missing number 

l, 3, 3, 6, 7,~ ?, 12, 21 

(A) 10 

(B) 11 

(C) 12 

~ 13 

l, 3, 3, 6, 7, 9, ?, 12, 21 

(A) 10 

(B) 11 

(C) 12 

(D) 13 
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196. A person invests a total of Rs. 2600 in three different investment plans which gives the 
return at 4%, 6% and 8% simple interest. At the end of a year, if the interest got in all the 
three plans are the same the money he invested in the first plan (which gives 4% interest) is 

(A) Rs. 200 

(C) Rs. 800 

(B) Rs. 600 

~ Rs. 1200 

9@QJrT ~· 2600 m (!Pfiirl!) QQJQiC:QJ!!) U®~5QTIT5 4%, 6% LD!i>!!)LD 8% ,,AflQJL~ '°,,;,j;Q) @f>~@ 
Qs:U:..£wrriT. 9® QJ®L @~661Q> (!Pfiir!!) QJQ)5lUIT611T Qf>rrma;a;~B;®Lb 9<:11 -='!'1TQHT611T f>QflQJL...~ 

Qu~£11>rrrr gaiflQ>, 4% QJL~ '5f>HJ!i>® Qs:U:..f> @f>~@ gEiiT611f? ' 

(A) ~· 200 (B) ~· 600 

(C) ~· 800 (D) ~· 1200 

197. Find the simple interest on Rs. 8,000 at 7~ per annum for 1year6 months. 

(A) Rs. 730 

\111' Rs. 840 

(B) Rs. 800 

(D) Rs. 715 

~- 8,0005@) 7% QJL~ &0,,Lb til® QJ®LLO 6 lDIT,,riJ5~1TfilT ,,Qfl QJL~ a;rrcailr&. 

(A) (!!). 730 (B) (!!)· 800 

(C) ~- 840 (D) ~· 715 

198. What is the square root of 289 .x12y6z14 ? 

~ 17.xsy3z1 

(C) 15 x2y2zs 

(A) 17 .x6y3z7 

(C) 15r2y 2z5 
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(B) 13%3.)'2Z3 

(D) 23.x4y2z2 

(B) 13.xsy2zs 

(D) 23.x4y2z2 

0 



199. From Tiruchy bus stand if we buy 3 tickets to Karur and 2 tickets to Pudukkottai, the total 
cost is Rs. 85, but if we buy 2 tickets to Karur and one ticket to Pudukkottai, the total cost is 
Rs. 50. Find the fares from Tiruchy to Karur and to Pudukkottai. 

'1i/' Rs. 15, Rs. 20 

(B) Rs. 17, Rs. 23 

(C) Rs. 19,Rs. 31 

(D) Rs. 30, Rs. 20 

~®Ul Gu®.ffi§I .@Q)Q)UJp;~GlSl®.ffi§J Bi(!!>®.$® C!:Pmwi u1UQfi6.fL..@a;~tb. Ll§J.$Ga;rrL..Q)L.$C§ @17m@ 
U1UQfi8:IL..@a;~tb 61.Jrrri.Ja; Gump;~& BiLLEmTtO ®· 85. ~grrrQ.>, 6i(!9®8i® @176Rr@ uUJEmT8:IL..@a;~tb. 
Ll§J.$Ga;rrL..Q)L.$@) ~® uUJEmTB=IL..@w 61.Jrrri.Ja; GLOrr;,~a;a;L..LEmTtb ® · 50. ~®6iluS1GlSl®.ffi~ a;®IT LO!i>g)ltb 
Lj§J.$Ga;rrL..Q)L Q6"\)Q) 8'LLQ18rr'iiJa;Q)6TT.$ a;rrcma;. 

(A) ®· 15, ®· 20 

(B) ®· 17, ®· 23 

(C) ®· 19, ®· 31 

(D) ®· 30, ®· 20 

200. A river of 1.5 m deep and 36 m wide is flowing at the rate of 3.5 km per hour. The amount of 
water that runs into the sea per minute is 

0 

.J 3150m3 

(B) 31500 m3 

(C) 6300 m3 

(D) 63000 m3 

1.5 u5L..Lrr <tliWQPtb 36 u5L..Lrr ~BiQ>(Y>tb Qa;rrcmL ~® ~d>!61Q.>. ~cmJrr ~®LO~ G,a>17;,~Jbao® 3.5 .$1.t.5 
~m!D GQJa;UJQ.> ~urBiGB>rrmui-@Bi.$l!D§J· ~ruQJrr!D!D1GlSl@.ffi§J. ~® .@t.6lL~~JD® a;LGlSlQ.> a;Q>.$C§iD ~iflm e;QT 

~6TT~ IUIT§J? 

(A) 3150 u53 

(B) 31500 t.53 

(C) 6300 u5
3 

(D) 63000 u5
3 
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PAPER II - GENERAL TAMIL WITH GENERAL STUDIES 
Time Allowed: 3 Hours] [Maximum Marks : 300 

Read the following instructions carefully before you begin to answer the questions. 

IMPORTANT INSTRUCTIONS 

1. This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open 
it at the commencement of the examination. As soon as the signal is received you should tear the right 
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions. 

2. This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are 
requested to check whether all the questions are there in series without any omission and ensure there 
are no blank pages in the question booklet. In case any defect in the Question Paper is noticed it shall 
be reported to the Invigilator within first 10 minutes. 

3. Answer all questions. All questions carry equal marks. 

4. You must write your Register Number in the space provided on the top right side of this page. Do not 
write anything else on the Question Booklet. 

5. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. 

6. You will also encode your Register Number, Subject Code, Question Booklet SL No. etc. with Blue or 
Black Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode 
properly or fail to encode the above information, action will be taken as per commission's 
notification. 

7. Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct 
response and mark in your Answer Sheet. In case, you feel that there are more than one correct 
response, mark the response which you consider the best. In any case, choose ONLY ONE response for 
each question. Your total marks will depend on the number of correct responses marked by you in the 
Answer Sheet. 

8. In the Answer Sheet there are four circles @, @ , © and@ against each question. To answer the 
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for 
each question. Select one response for each question in the Question Booklet and mark in the Answer 
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If 
for any item,@is the correct answer, you have to mark as follows: 

@•©@ 
9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take 

this Question Booklet and the Answer Sheet out of the Examination Hall during the examination. 
After the examination is concluded. you must hand over your Answer Sheet to the Invigilator. You are 
allowed to take the Question Booklet with you only after the Examination is over. 

10. The sheet before the last page of the Question Booklet can be used for Rough Work. 

11. Failure to comply with any of the above instructions will render you liable to such action or penalty as 
the Commission may decide at their discretion. 

12. For Question No. 101 to 200 in all matters and in cases of doubt, the English Version is final. 

13. Do not tick-mark or mark the answers in the Question booklet. 
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